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Set Id : 62467 _49 BATCH2 D.EI.Ed. Odia_13NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:
‘| refuse to go!" announced Grandpa George.

So Mr Wonka and Grandpa Joe and Charlie, taking no notice of their screams, simply pushed the
bed into the lift. They pushed Mr and Mrs Bucket in after it. Then they got in themselves. Mr Wonka
pressed a button. The doors closed. Grandma Georgina screamed. And the lift rose up off the floor
and shot through the hole in the roof, out into the open sky.

Charlie climbed on to the bed and tried to calm the three old people who were still petrified with fear.
‘Please don't be frightened,” he said. ‘It's quite safe. And we’re going to the most wonderful place in
the world!

‘Charlie’s right,” said Grandpa Joe.’

‘Will there be anything to eat when we get there?’” asked Grandma Josephine. ‘I'm starving! The
whole family is starving!’

‘Anything to eat?’ cried Charlie laughing. ‘Oh, you just wait and see!’

1) Where was the bed pushed?

A) Into the lift

B) Inside the factory
C) Inside the house
D) Into the room

2) In total, how many grandma's and grandpa's are mentioned in the passage?

A) Three
B) Four
C) One
D) Two
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3) Which grandparent did not want to go?

A) Grandpa Joe

B) Grandpa George

C) Grandma Josephine
D) Grandma Georgina

4) Who among the following was unpetrified with fear?

A) Grandpa Joe

B) Grandpa George

C) Grandma Josephine
D) Grandma Georgina

5) What did Willy Wonka, Charlie and Grandpa Joe push into the lift?

A) The house table
B) The bed

C) Grandpa George
D) Grandma Georgina

6) Fill in the blank with the correct option:

The resigned over a matter of

A) principal,principal
B) principle,principle
C) principle, principal
D) principal, principle

7) Which of the following alternatives explains the phrasal verb "Buzz around"?

A) banging your head against a wall
B) to fly above the clouds with a bang
C) to move around quickly and busily
D) to fall and stand repeatedly
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8) Fill in the blank with correct prefix or suffix:

More than 300 children were staying in that orphan

A) ness
B) age
C) ate
D) or

9) Which of the following words is correctly spelt?

A) collatral

B) collaterle
C) colateral
D) collateral

10) Which is the correct alternative meaning of the phrase "Doped up"?

A) to be in a state where you can think clearly because you have been medicated

B) to be in a state where you can not think clearly because you are under the influence of drugs
C) to prepare yourself, or to prepare something for an activity or event

D) to criticise someone because you are under the influence of drugs
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) The phenomenon of deposition of pollen from one flower on the stigma of another flower of the
same plant is called

A) Geitonogamy
B) Cleistogamy
C) Homogamy
D) Autogamy

11) aqie afeq 2R IR IFRIGIE QU6R 615N IRQ AeId @6l 6L YIS goIaN

A) SELI6RIGIE
B) @saicId

C) soicaiai
D) A6SINE

12) Which of the following sequence is the correct chronological order of the creation of north-east
states?

a) Nagaland < Meghalaya < Manipur and Tripura < Mizoram and Arunachal Pradesh

(
(b) Meghalaya < Manipur and Tripura < Mizoram and Arunachal Pradesh < Nagaland
(¢c) Manipur and Tripura < Mizoram and Arunachal Pradesh < Meghalaya < Nagaland
(d

) Mizoram and Arunachal Pradesh < Nagaland < Meghalaya < Manipur and Tripura

A)c
B) a
C)d
D)b

12) 3R PN 6998 eR-99 QY J0Ra ARA enIgadie a4 ?
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(a) eeiae < 6aaiea < A8ge 19° 8gal < AcRIalf 9e° AQYLIeR JEa 4
(b) saaiea < adiga 9e° §gal < AeRIQIN 9e° AQYIISR F6Rd < FITIRNIY
(c) adgea a° §gel < feRIQIf 9a° QISR 68 < 6AAIRA < RN
(d) Gei0in 9a° AQEISR gER8 < QIUIRIG < 67AIRa < Adge 9e° §gel

A)c
B) a
C)d
D)b

13) The Sarva Shiksha Abhiyan is a flagship program to universalize -

A) high school education
B) elementary education
C) college education

D) vocational education

13) eie ¥RRad QIR ASER BEAIR 62a8 1@ 996 AL -

A) 2% SR el
B) gio@e aal

C) aaidiiea aa
D) seiqee dal

14) Which operation was augmented by the NPE 1992 (NPE 1986 amended) throughout the nation?

A) Operation Technology
B) Operation Midday Meals
C) Operation Blackboard
D) Operation Toilets

14) aog sagea IR AR ecceo (NPE ecrs weang) QU 6L 2060276 Ql?ﬁ@ SR ?
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A) UCEQAR, 6TEFIERIE
B) 2UeQde, ML RN
C) 264y @l

D) ageaae, cdloina

15) The Kothari Commission Report recommended that each school within the Common School
System should be attended by all the children in the areas they lived. This concept was called

A) Local schools

B) Nearby schools

C) Government schools

D) Neighbourhood schools

15) 601018 @fiq As0ITea AR FMRA IR QI g6oIR FMIRACR 6QN6R QYS! PoRa ANY ARl 6AIF 6991 QIR AAUIAE
QARG | <3 dasig gITIada

A) 919 TR
B) fecg Gauea
C) Q@xial GayRa
D) 96gi191 SR
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) A larger cube is painted with black colour on all of it's faces. It is cut in to 216 smaller cubes of
equal size. How many smaller cubes are NO face painted?

A) 16
B) 25
C) 36
D) 64

16) @ 96 QY9Q MY AIg A7 AT aEe PRI 1 921G AR KRR 929 6816 IRER AN | K| LIRS 676015 6816
Qiea aig eafe QIR fIF ?

A) e9
B) 98
C)mo
D) 9%

17) In a certain code language, if the word COMMAND is coded as DPNNBOE, then how will the
word EQUALLY be coded in that language?

A) FRVBMMZ
B) ERUBMMZ
C) FRUAMMY
D) FRUAMNY

17) s @da sqie aisiee, a6 COMMAND a2 DPNNBOE eiqse 6716 6210, 6669 622 aigisa EQUALLY 6aG @ Gad
cqle @Al IS ?

A) FRVBMMZ
B) ERUBMMZ
C) FRUAMMY
D) FRUAMNY
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18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

If no two students scored the same marks in the mathematics test, then what is David's rank in the
mathematics test?
|. The total number of students in the class is 30.

Il. In the test, 9 students scored less than David.

A) 1
B) 2
C)3
D) 4

18) FONYC gggdasa 686 aag :
0. 26 GQQdl | analia QB 6eaIg A5 26T |

9. a6 Q4 Il ¥gdal anaiia AR caqig asaa 26T |
q. 96 P4 | v |l aeng ¥RI0 F2189 6069 AR RAQ 629! IE aiIg 266 |

¥. 96 3QQ4 | ver |l aeng w10 FaI8e ce6e @ A RAR 6091 e ATNIG G69 |

94 65193Q Qaed 2Ig 940 JaIEIEa AR fIs AN *5ILIE, cese 0die UNINIER ceTieR QUIT 6966 ?
|. 6geisa 67116 €18 el 628F Mo |

Il. 98 aoisiea ¢ @6 219 668Q 01 /¢ FIE 9Fad |

A)®
B) ¢
c):
D)
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19) In an evening, Udai singh and Vishal kumar were talking to each other face to face in an open

field. If Vishal kumar's shadow was exactly to the right of Udai singh, then in which direction was
Vishal kumar facing?

A) East

B) West
C) North
D) South

19) @6 anica 90a & I HaIR gAIQ 9IS 64l 9BzIca IQLR QTS ﬂﬁﬂ§ 62IR Q2SR ceaden | 96 SaIR Qrie LIl
200 Fe O GIeld aIsig @@‘em, 6669 F4IR FAIQ 676 Fag JRiRden ?

A) &
B) @da
C) e
D) @@4

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

If 'x' is an integer, then what is the value of |x+4| + |x-3|?
L:x*2 = 52
Il. xA2 > 322

A) 1
B) 2
C)3
D) 4

20) PINGC ggedace 656 @0 :
0. 90 FRQE! | Qe VA ca9Ig Q62a 26T |
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9. 9@ Q4! Il vgfel anye QAR caelg K628 26T |
q. 9@ QG | ver |l @eaq 910 F2Ide co6e AR AR cal AIe g4I 26w |

¥. 9@ Q96! | 9o Il aeag ¥9I0 52199 6669 @ ANANIR RN 629 AR A P62 |

a@ 'X' 9@ qdis 26T, s86e [X+y| + |X-1| @ FlIR 6REC ?
l. x*9 < gh9

Il. xA9 > qho

A) ¢
B) ¢
c)m
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which of the following more strongly advocates spiritual conduct as one of main goals of
education?

A) Humanism

B) Realism

C) Idealism

D) Existentialism

21) 218 g AW IR ARIFR EAGY AP Q@ NEA FARYS MRIQ 699E 67T F6Q ?

A) FIRQIQ
B) QIINQD
C) 2ledlQ
D) @@qIrele

22) The whole range of components and activities within which learning happens is referred to as

A) school

B) learning environment
C) classroom

D) community

22) QIQIe 9e° AIRRIaa agd afae 6aa2sa J8l 928 fAINIRAN SIelg EQIR QLI |

A) MRS

B) d@¢ adsas
C) 98192

D) Qa<ie

23) The Council of Scientific and Industrial Research (CSIR) is

A) a central government organization
B) a state government organisation
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C) a private organization
D) an international organization

23) QRIQ B BeUITS 2QARR IQEQ (CSIR) 6208

A) 695 AeRIeE 9@ a°gl
B) qigy deeiaw 9@ a°Ql
C) 9@ a6qia a°ql

D) 9@ 2Ieeee Qg

24) Which of the following was appointed to review the non-implementation of the Common School
System?

A) Mudaliar Commission

B) New Policy on Education

C) Acharya Ramamurthy Committee

D) National Knowledge Commission

24) G698 QIQ 69AF ARRE TN MIYR AS-FINIRITGIG AN 9GS AR FYS 62Iadial ?
A) 9eRizIe afae

B) d81a 961 716

C) ziadi QAR @66

D) @1 BIQ 2SS

25) In “POSDCORB” R stands for

A) Reporting

B) Renaissance
C) Reorganization
D) Renewal

295) “061addeued” o 2 2ie NLlg Q4iNg

A) Q6Q16G°0
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B) @sqarg
C) Q2IGIRIReadq
D) Qgueim

26) Which of the following questions are critical thinking questions?

A.Give reasons why you do not like the climax of the story and change it accordingly.
B. Recite a poem which you have learnt in your childhood and explain the theme of the poem.
C. Catergorise the given leaves into different categories based on their colour, texture, and shape.

D. Do you think stealing is always a crime? In which circumstance could it be considered differently?

A) A D
B) B, C
C)A B
D)C, D

26) F9RY0 9998e uIQ 6996 9Qegd UG 99 ?

\: 298 FIANQ 69TRNS FDE QA0 23 91T ARG G2UF IS 62 AR I2AG VFIR K0 |
Q. 99 A0l 910 2ag QILIg UG TRFFQ FYRT I PRI FAAIGG MW 9 |

4. duaRdel 0egeq 6ANRTA aa, FOR, I 2IGE AQAER F6Q @dea ATRad @ag |

@. 210 IS & 6016 959 A96Q6R LTl 62IRaIN ? saa dddsa ¥alg fig Qesa Faa AaIIRISa ?

O W >
R
4 > 4
D)

€9 £

=)
p)
&)

27) The teacher wants to introduce a new concept in the class but the students are in the mood to

PLAY AND ENJOY rather than study. Which of the following principles should the teacher ensure
before starting the lesson?

A) Principle of Readiness
B) Principle of Practice
C) Principle of Law and Effect
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D) Principle of Acquisition

27) a9 694160 ¥@ 909 dIadl QagINe fIg qeia @9 SIgIEe ZUAR AERl AINEA (YR Y AUENIT QIR FERIRINER
2881 Q0 oA *5el 9IQ FYRYS 916 AIQ 699T Jae G40 989l a6 ?

A) 9g6a @18

B) zauiae MG

C) U I gRIea 816
D) 2ugeda 916

28) Which of the following teachers has the best pedagogical content knowledge?

A) P sets up experiments for children and asks a lot of why questions

B) X gives a lot of information, gives lots of references for reading

C) R designs experiences for conceptual clarity with comprehension checks
D) E writes the questions and answers on the board and gives a test

28) GgRge FaRaes TUg FIZIFA dNIFe FUN9Y ATEA AR FIQ Q& ?

A) & dainies aid aaise 636 20 QAR e 26ee 9158 g4 aadal@ |
B) <q 260 9ol 62alll3, a8l aidf 26ee cagseg ceallid |
C) aia QuIcEl APe A96 AIREIER 276! Aid 2996 936 @8 |

D) g caigea 99 & A0 6AUd 1e* 1@ ool 2T |

29) Read the following statements and choose the CORRECT option.
()The National Policy on Education (NPE) was adopted by the Parliament of India in May 1978.

(i) A committee was set up under the chairmanship of Ishwarbhai Patel in May 1990 to review
NPEand to make recommendations for its modifications.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE
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29) Q6@ QRGP 9eg 1a° O] 99 QI8g

(i) 1978 661 AIA6Q VIAG1A A°ARER JAI AHNG KIS NG (MRTR) L8 FAAIRYA! |

(i) 1990 6¢1 69 QYR QIR VTR SRUIVGIER FA AANG FG1G A1E (YRTR) @ ANV IS° YR IAFAR
IR 2GEFIR FEI168 IR @06 G0 KRR |

A) (i) Q04 26T 9e° (i) A0 26T
B) (i) QoY 2166 98" (i) 2AGY 266
C) (i) sy 26 9Q° (i) Aoy a6e
D) (i) 21acy 2165 9Q° (i) AARY 26T

30) The principle of freedom in Principle of Learning says that, since learning is an active process,
students must have freedom of

A) action, result of action and destiny
B) choice, decision and learning

C) choice, action and result of action
D) choice, action and destiny

30) da 91560 AN 918 G2F 64, 6J62Q I8 98 AGA g, 2RI QRNFG! QEQ IR

A) I, QIY e QIS TRITR
B) 929, 796 e &al
C) 99e, Qidy 1&° qidia aRIoe
D) 99R, @IdY 9% @Iey
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 0 6 @' g 632 QUVNEQ & YT QRIAN?

A) 2189Q

B) o1& Quae
C) §-9a

D) quae

32) G6¢9 694 AUQAC GG NIFER QR FIER AU TP QUER LS gUB 7

A) a9
B) @
C) e

D) @@

33) @@, 499, Y, 9FI — 1 FRIQ 69T ARIOR FEEN?

A) @3
B) aieq
C) a@
D) ga

34) ‘@0ag’ane a10IderRIS 99 QI8 |

A) 799
B) o&al
C) eril
D) auae

35) ‘218 QUGS IR6Q JEAIT 6219 699 2dq AR FReIN?
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A) QIgIQ
B) @ea

C) gale
D) a&i

36) QR OUIQ 629G IR 6Q98 90 g6L?

A) agell
B) gaia
C) &g
D) aal

37) ‘@’ aIg LR FAAINYR RAATYS 265G AL |
A) &dae
B) 63ee
C) Qe

D) oaieQ

38) ‘G YR ¥gR RS’ QR 2 A @9 |

A) 3] 601Q @aal
B) Q94 2IQQIe @<l
C) ¢dg el @Gl
D) Q1@ 2198 9@ql

39) ‘aiey @8 swal’ 28 e K2R QEeg Sl |

A) U LNRS
B) g aQIge!
C) a4 6QIRQ
D) aiey @& 629

WtsApp/Call- 8596976190
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40) GRIQ L16Q YRR QLS — ANER 6L UG 664 ?

A) ae1Q
B) qa1
C) gaia
D) @&

41) ‘ade’ 9aa SRR 4% UL |

A) €1ge

B) 9196%
C) 29195%
D) s7ada

42) Qa26Q IAg QI 01 AFER ARG AT FI6A 674 ARG FEIN?

A) 6igl
B) &lea4
C) &

D) aiaq

43) Q6qle 99 c1IQ ‘9F6!I’ e ‘A’ goua 6Qlse 900 aadq IR |

A) 6052l
B) &l
C) a5

D) fe6a

44) QIR QI 3L MIACQLR 2SS — YOIEQ IAELR @ IR F68ITY?

A) 43 Qo9
B) g QIo@
C) Q16 Qo9
D) q¢l Qioe
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45) ‘@001 49 AP I8 AL |

A) TaQ
B) as4Q

C) aee
D) Qs
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) Which of the following equations has x = 3 as a solution?

A)3x+2=8
B)3x+5=12
C)2x+5=11
D) 2x + 5 = 15

46) FRYe ANIAEYFR FUQ 6RUTR AL QSR X = 3 Q@5 ?

A)3x+2=8
B) 3x + 5= 12
C)2x+5=11
D)2x+5=15

47) If the are of an equilateral triangle APQR is 16V3 sq.cm, then what is the length of its median?
A) 6 cm

B) 5V3 cm

C) 43 cm

D) 8V3 cm

47) 2@ 92 el dge APQR @ gia ceed 163 agsad, 6069 2R ARIFIQ AR 6REE 6299 ?

A) 6 sad

B) 5V3 sa
C) 43 saf
D) 83 saf

48) HCF of two numbers is 15 and their LCM is 840. If one number is 105, then which is the other
number?

A) 240
B) 90
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C) 60
D) 120

48) 9af ol qalg 6208 15 9er sacieaa paig cead 8401 9@ a1t g cral 105 24, 6069 TQY CPEIT 6966 ?

A) 240
B) 90
C) 60
D) 120

49) Veena borrowed % 1,000 for 2 years at 10% interest compounded annually.What is the total
interest to be paid?

A) %210

B) ¥ 220

C)T 230

D) X 250

49) Q141 eide 10% o298 qu 2esa 2 o8 ain T 1,000 64 620260 | 61 AP 6966 o 69917 699 7

A) %210
B) ¥ 220
C) % 230
D) Z 250

50) What value of x satisfies the equation 0.4x + 0.72 = 0.28x + 5.527?

A) 40
B) 20
C) 10
D)5

50) x @ saa (19 0.4x + 0.72 = 0.28x + 5.52 aaieadq aba @€ ?

A) 40
B) 20
C) 10
D)5
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51) What is the circumcentre of the triangle whose vertices are (3,4) (8,4) and (3,16)7

A) (11/2, 10)
B) (3,10)

C) (1172, 4)
D) (7,12)

51) 9o 990 0Gicaq 6960 62@ agla 1d 62a8 (3,4) (8,4) ve (3,16) ¢

A) (1172, 10)
B) (3,10)

C) (11/2, 4)
D) (7,12)

52) A number when divided by 2,3,4,5 and 6 leaves a remainder 1 in each case, but when divided
by 7 leaves no remainder. Which is the least such number?

A) 501
B) 301
C) 465
D) 630

52) @ el 660696 2,3,4,5 9o B Qial 598 29 J664e QIG6aT © 21FeN, F3 69606967 7 Al S99 24 QITGES faI |
1808 A90IQ 97 TFHWIT 6RRAE ?

A) 501
B) 301
C) 465
D) 630

53) A certain amount deposited at a rate of interest of 13% yields a simple interest of ¥ 338 at the
end of 2 years. What is the amount that is deposited?

A) Z 1000
B) ¥ 1300
C) 2 1700
D) 2600
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53) 13% qu 208 a9l 621029 Y@ 748 0dialg 2 od sassa T 338 a aar gu dFaN | 94 62ARLR QUF 6969 ?

A) Z 1000
B) ¥ 1300
C)Z 1700
D) 2600

54) Salaries of Ravi and Sumit are in the ratio 3:5. If each of their salaries are increased by ¥ 5,000,
then the ratio of their salaries become 2:3. What is sumit's salary?

A) % 25,000
B) Z 20,000
C) Z 15,000
D) Z 10,000

54) a3 ver gdiew @aal 3:5 agaiesa 28 | 96 saniesa geeye aasl T 5,000 9 alv, 6669 sacias @asl 2gae 2: 3 slaald|
AN Qlﬁ@ﬁ"a QN ERER 629 ?

A) 25,000
B) 20,000
C) 15,000
D) 2 10,000

55) Which of the following represents a null set?

AL}
B) {0}
C)0
D){®}

55) dgfiee FrIQ 666 IR 7Y 696 § @4 ?

A){)
B) {0}
C)0
D){®}
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56) Which is the least number by which 18,772 must be divided so that the quotient becomes perfect
square?

A) 11

B) 12

C)13

D) 19

56) 698 RQA cau@ 689G, al Qe 18,772 30156 6291 06@ AGTH ¥@ s Q6 6QIRAN ?

A) 11
B) 12
C)13
D) 19

57) Poin P lies outside a circle with centre O and radius 9 cm. If OP = 15 cm, then what is the length
of the tangent PT that touches the circle at point T?

A) 11 cm
B) 12 cm
C) 16 cm
D) 17 cm

57) P qiae 8§98 e QRAINIQ 688 QI2ica 28 2129 6@59Q O ve qyais 9 saq, & OP = 15 6ad, se6@ Qaq T Ggsa a4
aadicl PT o qa 6066 6267

A) 11 cad
B) 12 sad
C) 16 sad
D) 17 ead

58) The average salary of A, B, C and D is ¥ 85, 850 and their salaries are in the ratio 2:3:5:7
respecively. What is the salary of A?

A) 20,400
B) 240,400
C)% 60,600
D) ¥ 85,000
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58) A, B, C wer D a 2iuieid @aal T 85, 850 ver caniesa @aal 2: 3. 5. 7 2Q0I060 028 | 6669 @ @ 9051 6960 ?

A) Z 20,400
B) Z 40,400
C) % 60,600
D) Z 85,000

59) If for two finite sets X and Y n [P(X)] = n[P(Y)] + 992, then n (X) + n(Y)

A)5

B) 32
C)15
D) 50

59) a& ¢af mde sac a X 9> Y n [P(X)] = n[P(Y)] + 992, sesa n (X) + n(Y)

A) 5

B) 32
C) 15
D) 50

60) There were 'n' students in a classroom. Each of them contributed ¥ 'n' each for the annual day
celebration. If the total contributed amount was % 7,744, then what is the value of 'n'?

A) 78
B) 82
C) 88
D) 92

60) e cg41gesa 'n' 2168181 26 | A1 929 ARE dlal g6846e T 'N' 6ordsn | 98 Agla aeqle el T 7,744 aql, 6069 ' n '
QLR 6R6G ?

A) 78
B) 82
C)88
D) 92
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) Which among the following refers to, a small-diameter column of violently rotating air developed
within a convective cloud and in contact with the ground?

A) Earthquake

B) Tornado

C) Tsunami

D) Volcanic eruption

61) FUAYS IQ 6RAET IR AR AOR B YU ANER F9F0 621R TR 69060 621289 INFR IR 6216 89l 37 IS1e F6Q ?
A) 9ad

B) edisel

C) g=@

D) 2CYATER QNS

62) Which layer among the following options makes up most of the Earth's mass?

A) Outer Core
B) Mantle

C) Crust

D) Inner Core

62) FIRYC GRAYTR FRICA 694 B9 FASIQ AALE 2°8 Q] K62

A) Q124 6299 28R
B) aigioe

C) ga
D) aigs 6294 28R

63) What type of right is Right to Information?

A) Fundamental Right
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B) Legal Right
C) Neither a Fundamental Right or Legal Right
D) Both Fundamental Right or Legal Right

63) 90al 23410 626 JRIRQ 2R ?

A) 601GR 2RI
B) UG 2[RI

C) 149 6815e 2uaa @l 219990 2R
D) 6HIRR ZyRIa Gl 2IRR06 2RISR A8

64) Who among the following rulers of the Mughal empire founded the Tughlag Dynasty?

A) Firoz Shah Tughlaq

B) Ghiyas ud-Din Tughlaqg

C) Mahmud Shah Tughlaq

D) Muhammad bin Tughlaq

64) 6F10@ AIFINQ FIRGE SIARANRE FRIER @ PANR AUR°F &I *AYER?

A) QIR SILI QIRIR
B) @01Q-29-Gq gaRIQ
C) aeqe 412 ORI
D) Aeqe G gRIR

65) The Silent Valley Movement was aimed at fighting

A) against the increased noise pollution
B) for the curbing of e-waste

C) against hydroelectric power project
D) against elephant poaching

65) aiRsare QIR 2ERIRE 98 AR A QAR

A) Q8o 99 ggue Ggaea
B) @-2IesaIq 6a1Fel AR
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C) &% SQlegas SRR
D) 261 263y d@ia FgRea

66) The ductile part of the Earth just below the Lithosphere, including the upper mantle and that is
characterized by low seismic wave velocities is known as

A) Biosphere

B) Hydrosphere

C) Mesosphere

D) Asthenosphere

66) YA VG Y MEAIARTR GER, QIR 6¢1RY UL @A I&° 2| @] Qaf e 696 QI @I |

A) QIeR9Q
B) eipegidge

C) 6516Q180Q
D) U6gsRIdaa

67) Which of the following options is CORRECT about Panchayati Raj in India?

A) Panchayati Raj gave importance to higher representation to women than men

B) Panchayati Raj is one of the reasons for growing cases of corruption
C) Decentralization helped the roots of democracy to reach deep down
D) Funds of Panchayat are audited by the CAG

67) 39ado 998999 fuQ 6908 QIeesa rolad Qie Gacsa A0S 26T ?

A) o986 QiR YoIw 26aMl ATRIFINES AR ORQ FARIQ 9RY 69RAUIN
B) QA8 FIFR @R ARG FURE 6298 TOIAE QR

C) FERLINAY CEI02R QFT ININeIsR IFFII6R ARG KRR
D) oiaea ad A& QI 286 @aIdId

68) Which Act among the following is called 'Mini Constitution'?

A) Govt. of India Act, 1935
B) 42nd Constitutional Amendment
C) 44th Constitutional Amendment
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D) Govt. of India Act, 1919

68) SqAge MrIQ 694 FAa] ‘e AR GRIAN ?

A) 9196 eRaE AARAA, e ¢N8
B) ¥9 0 QRGeS Trediue
C) ¥¥ 09 ARAFY CreqR
D) @90 Qeqiae 2d7aa, eced

69) Vernal Equinox of Northern Hemisphere on the Earth marks the beginning of which season?
A) Autumn

B) Spring

C) Summer

D) Winter

69) qa9ie eRQ aINEEa IR TR AFFT 679 AQR ARG q@@ P6Q 7

A) €0
B) @28
C) 919
D) e

70) In which year did Gandhiji start the Dandi March as the Civil Disobedience Movement?

A) 6th April 1930

B) 12th March 1930

C) 26th January 1930
D) 31st December 1929

70) 699 996Q IR NG VCURY AGKIFT N6 I8 AIGI AR PGSR ?

A) 2 qga e dmo
B) ¢9 QS e cmo

C) 99 @Igua1 e ¢Mo
D) Me @eana e 9
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71) Painted Pottery is the most distinguishing feature of which of the following prehistoric periods?

A) Mesolithic Age
B) Neolithic Age
C) Chalcolithic Age
D) Iron Age

71) 586 QRIQ GRS QIPIR QIR FIIQ 684G AIQ AQOIQ BiR 6TFRY?

A) 6716Q@2IR YO
B) aeaimigl ga
C) onsaimee 99
D) emle g4l

72) Which among the following options is the odd one out?

A) Norkrek-Meghalaya

B) Simplipal-Odisha

C) Cold-Desert-Himachal Pradesh
D) Guindy-Tamil Nadu

72) 39ago 90990 0:Q 6006 6298 89 ?

A) 6910689-6712IRE
B) df@aie-6a4l
C) seR-aged-Gnlon gead

D) a[at5 Sallaalall}

73) Under the Gram Nyayalayas Act 2008

A) Only Civil cases will be heard at the high courts

B) It allows local social activists as mediators or reconciliators

C) Only Criminal cases will be heard at the high courts

D) Providing access to justice to rural citizens at their doorstep
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73) g YISIRY ARAA 900l UIRER

A) ARERITER 6P 6YR ANAR SIS FAUTR

B) el ge1a AIFIGS QITIQRUT 031G G2 AIPRIRINT AIFER 29AE &
C) 2196RIS6R 6797 ZITRIS AR GEIE FaIde
D) 9IFreRa FISERAIRE SACIRE QOERS6R 4D gaIe AR

74) The Tropic of Capricorn lies at approximately

A) 23.5 degrees North of the Equator
B) 66.5 degrees North of the Equator
C) 23.5 degrees South of the Equator
D) 66.5 degrees South of the Equator

74) 02a @18 919 90I6a 29ge

A) garicedia 9.8 891 a@A6ER

B) geusasia 99.8 691 aRasa
C) 96adq 9.8 o9 @R96Q
D) efieasia 9.8 &g @886a

75) The Balkan plan for its 'Fragmentation of India’' was the brainchild of which leader?

A) V.P. Menon

B) Mohammed Ali Jinnah
C) Lord Mountbatten

D) Winston Churchill

75) ‘giceaeear 2T @d’ 0IR AL AP 699 CROIFR 8% SN AR ?

A) 8. 3 608Q

B) qaqq a1 fal
C) @9 AIrequiees
D) Geae o6a
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which of the following reactions can convert carbonyl to alkane?

A) Carbonyl with Na - HCI

B) Carbonyl with Zn(Hg) - HCI
C) Carbonyl with Al - HCI

D) Carbonyl with Cu(Hg) - HCI

76) GoRde geaagee g 6966 FISER] JINCRFER J88e RAUIGe ?

A) QSRR 986 Na - HC

B) QI98@ Q&6 Zn(Hg) - HCI
C) QIeaa a2 Al - HCI

D) QIed@ 9@% Cu(Hg) - HCI

77) Which of the statement is TRUE for anti-ferromagnetic solid substances?

A) The resultant magnetic moment is very high due to alignment in same direction

B) The resultant magnetic moment is zero due to equal alignment in opposite directions

C) The resultant magnetic moment is small due to unequal alignment in opposite directions
D) Only weakly attracted by magnetic fields and forms temporary magnets

77) arfeaeaiciisgda @09 0ald 68666 699 QIGIT 20 266 ?

A) 2618 8660 T6aSE FIRIQ TRITR QAATA 96 926 TR 62IRAN

B) §aeie Ge6a aAle reasd PIasq aRITR QAR 926 el 62IRaIN
C) Seeie Gasa AQMIR TEaSE FIREQ TRITR QRE1A 26 6816 621RaN
D) 6996 QAQIH 688 6l @OR RI9Ea 2eTe §4 1w 201 QAR 98 F6Q

78) A 150 m long train is moving to north at a speed of 10 m/s. A parrot flying towards south with a
speed of 5 m/s crosses the train. The time taken by the parrot to cross the train would be

A) 25 s
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B)15s
C)5s
D)10s

78) 150 m fi9Q 1] 9@ 6] 10 M/s 69960 @8RG AT | 26 2eg 5 M/s 63968 QYS! IR G2 6977
2097 @A8 | 66RQ 0FF FAQI QIR G2 IRl FAARYS! AT 6208

A) 255
B)15s

C)5s
D)10s

79) The small intestine has three parts. The first part is called

A) Duodenum
B) Pharynx

C) Stomach

D) Oesophagus

79) g9 Usaaiea G6RIE 2rd 2 | gas fIelg 2l geldnd

A) 266eqd
B) @&
C) 69¢

D) 8sQiTeQ

80) The example of floating but rooted hydrophytes is

A) Vallisneria
B) Lemna

C) Nelumbium
D) Pistia

80) auaqie &3 RS LINEITIRG A QIeQs 6208

A) aInsasaaal
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B) sadl
C) saafas
D) dgz

81) What product will form and type of reaction will occur when bromine reacts with ethylene?

A) 1,2-dibromoethane and addition reaction

B) 1-bromoethane and addition reaction

C) 1,1,2-tribromoethane and substitution reaction
D) 1-bromoethane and substitution reaction

81) sariae eafe ade Gl ARAICRER 604 AU I8 629 I 674 gRIeQ 95Fal Ace ?

A) ¢, 9-G6QIECNI62R \e° 6QlIG gER

B) ¢-6Ql6qaIsaq P 6l qesel

G) 2, 9-@6Qleqlsan Ye° gegiae goam
D) ¢-6Qiclisae I gogiae gegal

82) What will be the mole fraction of 2 g Hz gas in a vessel also containing 8 g of Oz and 7 g of N2
gases?

A) 0.25

B) 0.5

C)0.75

D) 0.45

82) 1@ aigsa 2 giq H2 auige 691 agre @’¢ 629 1e° @isa 8 gie O2 we 7 gie| N2 quia a1l 088 ?

A) 0.25
B) 0.5

C)0.75
D) 0.45

83) A police jeep moving with a velocity of 45 km/h is chasing a thief in another jeep which is moving

with a velocity of 153 km/h. Police fires a bullet with muzzle velocity of 180 m/s. The velocity with
which it will strike the jeep of the thief is

A) 150 m/s
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B) 270 m/s
C) 600 m/s
D) 900 m/s

83) 45 km/h 699 88 6aIMQ §d 153 km/h 6966Q LIRS AQY I@ FYER gl 6919 6QIPIRE | 6TINY
180 m/s @689 6Q9 QI 9@ IR ORIARN | 6N 6ITER 9T 69109 FIAQ NG 692 GI2l 6203

A) 150 m/s
B) 270 m/s
C) 600 m/s
D) 900 m/s

84) Structure within the cells of plants and green algae that is the site of photosynthesis, the process

by which light energy is converted to chemical energy, resulting in the production of oxygen and
energy-rich organic compounds

A) endoplasmic reticulum
B) chloroplast

C) mitochondria

D) ribosomes

84) a6@ e A9R6TRYFRR 6RIT FRIER GI0F KT 6288 AR TEYIIR YR, 606 I QI SRR 98 AAXFS 936a adae
24, IR gRIR IS 98 QA AYE 2Fegs 6HIGS adee 24 0191 6208 JUUUagaIggadad

A) 69T 6a5gRe

B) sqlsaiqia

C) AaseIedal

D) ciseicQlie]

85) Catalase enzyme of peroxisomes catalyses the decomposition of hydrogen peroxide to

A) water and carbon dioxide

B) carbon dioxide and hydrogen
C) water and oxygen

D) hydrogen and nitrogen
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85) G‘EJGG)I@GQ]IQ\GPIG'IG@@ @ inf] LIRcelewa 6UdagineG o Q4T @O N @60l

A) 89 e ZETIOQIE,

B) 2eaqlg, 96" Q@8IR
C) 9% 9&° 2qeIe

D) 9817 N&° ASIARIR

86) Which of the following is a type of Underground stem modifications?

A) Rhizome
B) Runner
C) Twiner
D) Offset

86) fqfige Aug 676E 29agIad 687 QUIBAR gRIa ?

A) SIRESIF
B) 998,
C) 99

D) 2asa¢

87) A 10 litre cylinder contains 0.4 g of helium, 1.6 g of oxygen and 1.4 g of nitrogen at 27 °C. What

will be the partial pressure of helium gas and total pressure in a cylinder respectively? (Assume ideal
behaviour of gases. Given R = 0.082 litre atm mol'.

A) 0.146 atm and 0.392 atm
B) 0.246 atm and 0.492 atm
C) 0.0246 atm and 0.0492 atm
D) 0.0146 atm and 0.0392 atm

87) 4@ 10 feca dhgase 0.4 qic 8Raq, 1.6 gia agele e 27°C sa 1.4 g fI96gicas 028 | 2haa cyiaa 2Pde ag 9e°

AR906Q 691G QU 6966 629 2 (QuIaq AwIas Aead 2gde @ag | R = 0.082 dca 998 mol -1 da1aad )

A) 0.146 atm and 0.392 atm
B) 0.246 atm and 0.492 atm
C) 0.0246 atm and 0.0492 atm
D) 0.0146 atm and 0.0392 atm
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88) A particle moves in a straight line with retardation proportional to its displacement. Its loss of
Kinetic energy in any displacement x is proportional to

A) x?
B) e*
C) x

D) logex

88) U@ @Rl 92IQ TR AL AAIFUIBR AINEQ FFFI6Q AQAREASIER GG @6Q | 6F1EIT TAIAR X6Q FOF I
Q9 Q19 AL AAIGAIT ?

A) x?
B) ex
C) x

D) logex

89) Vernalization is aprcess used in horticulture, which of the country given below characterised
based on temperature do you use vernalization?

A) Only in sub-tropical countries
B) Hot countries

C) Cold countries

D) Only in tropical countries

89) erlneseae 208 awve f86a NOYe IR 9, SIOIgl e 2RIR @8 Fea SRS 6REl 6@45a 2IT8 RAIRIREFAR
IR FAZ ?

A) 6595 90-Q8RC191A 6249505
B) @8 694

C) diem 604

D) 6897 230619910 6269860

90) Which of the following is NOT a membrane-bound cell organelle?

A) Peroxisomes
B) Vacuoles
C) Lysosomes
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D) Ribosomes

90) A9AYe TIQ 69RE IR 67162R-9TC 6RI AIERM Q6L ?

A) 60QFIREAIC
B) 95

C) uasaisain
D) quasaleqiq



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

WtsApp/Call- 8596976190

<
=
=
(2]
=
(e
o
=
(S
()
=
©
©
L=
(=
3
[}
(a]

62467 49

Question Paper No:

Answer Key:

MAa|<lalolAluAaalAalO(L|IAID|LImA|Ald|V|dAa|l<|la|o|dla|<(O]|A
—lN| T ||~V —~|N[en | T | O~ DN DN T N[O~ N
LIivIv|Iv vl ||l ||~~~ |~|~|~|[|~|[|0|0|c0|o0|L|ce| |0 |co|jce|
vlDIAIAmm(OmAl<Am|A|lO|AIV|ID|IA|I| < <A< <OMMmMO|O
— | N N O~ NS =N N OB N O —|Nen| N | O~ |0 NOD
enjenjenjenjenfenfenfenfen| <t |t ||| || F (| T nmnninininvinviun|wnin|o
ydiall R di.llalio]l. ] lall..l gl laliolialial R diellalialie] R 4Gl d R4 Edio) Ia] i®
—lNfN | T N OISOV O~ ANN | T N OO O AN NN O[O0 O

el Bl Bl Bl Bl R A B N B I e N A N R e I N AN RNa N Na el Katll Nag!



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

